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g7

(@) (-5)2-1
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» (b)

] 3R

A={xez:x3—1=0}

i B={er:x2+x+1=0}%,qﬁZ'€ﬁﬂ

é@mﬁwwﬁ,a}anaﬁm%w%?
(@ T ogeay
i —1-J§i}

2 2 2

i -1-3i

8y

W o w4 S B % oy A
Eﬁﬂﬁtﬂ'ﬁaﬂw:

1. ANnBU@AnN B)U(ANB)=AUB

2. (AU(ANB))=auB

auﬁmmq’fﬁ'ﬂahm/&aa%/%?
(@ %ad1

() Fad 2

@© 13K 23

@ FIFA1L,7&2

m?ﬁﬁqxwaﬁmagm%aﬂtm#ﬁq
A B, C ¥9%9 X & Iyagery § | F=ferfes
FH W e it .

b ACC:(AFIB)C(CFIB),
(AUB)c(CuB)

2. -(AnB)c'(CﬂB)mﬁBHgaﬁ%f%rq
=AcC ; ;

3. (AuB)c(cummBagaﬁ%%q
=AcC :
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What is the n? term of the sequence
25, ~125, 625, 3125, ... ?
@ 5"
(b) (_1)211 5!1“‘1
(© - 1)211—1 5n+1
2. ! Suppose X = (1, 2, 3, 4} and R is a relation on
X.IfR=1{1,1),(2,2),(3,3),(1,2),(21),2, 3),
(3, 2)}, then which one of the following is
correct ?
(a) R is reflexive and symmetric, but not
transitive
(b) R is symmetric and transitive, but not
reflexive
(¢) R is reflexive and transitive, but not
symmetric
(d) R is neither reflexive nor transitive, but
: symmetric
3. A relation R is defined on the set N of natural
numbersasny:xz—4xy+3y2=0.Then
which one of the following is correct ?
(a) R is reflexive and symmetric, but not
transitive
(b) R is reflexive and transitive, but not
symmetric
(¢) R is reflexive, symmetric and transitive
(d) R is reflexive, but neither symmetric nor
transitive
EDF-S-DGV

4.

(3-A)-

IfA={xe Z:x°-1=0}and

B={x¢€ 7 : 2 + x + 1 = 0}, where Z is set of
complex numbers, then what is A N B equal
to?

(a) Null set

i {—1+J§i, —1-J§i}

2 2

{-;1+J§i -1—J§i}
(c) .
‘- 4 4

@ {1;J§i 1—J§i}

U

_ Consider the following statements for the two

non-empty sets A and B :
1. (ANBUMANB)U(ANB=AUB

2. (AU(ANB))=AUB

Which of the above statements is/are correct ?
(a) 1 only '

(b) 2only

(¢ Both1and2

(d) Neither 1 nor 2

 Let X be a non-empty set and let A, B, C

be subsets of X. Consider the following
statements : ' -

1. AcC=(ANB)c(CNB), :
: (AUB)c(CUB)

2. (ANB)c(CNB)forallsetsB=>AcC
3. (AUB)c(CUB)forallsetsB=AcC
Which of the above statements are correct ?
(a) 1and2only '
(b) 2and3only

(¢) 1land3only

(d 1, 2and3
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% aﬁazﬁz 4 0] 2, @ B &I HEESS AR

1 1@
fora® sua 2 2

(a)

(b)

(c)

0 0.+ 8
_o\o\;
0 0

o(d) THE Al TR

8. wHEW |x®-x-6|=x+2 HAAFE?
(a -2,1,4 '
® 0,2 4
© .0,1,4
@ -2,2,4

9. zﬂ%a:[g ;]%,a’r_ana{e'ﬁ
(a) IFCHA AT -
(b) AT AR
(c) WW
(@ fgw ImgE

x -3 1

10. IR |y 1 i |=6+11 }, @ x3My

0 9§ -
U 99 T8 ?
(a) "‘3’4
& a4
© 8-4

d -3,-4
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11.

12.

13.

|14,

(4-A)

|15.

qH 22+ 222 + 22+ 1 =03
2017 208 1 2o % e e &
(a)
(b)
(c)

d o, o’

If C(20,n +2) = C(20,n - 2) 2, & n fFESH
T R ?

(a) 8

(b) 10

(e) 12

d 16

-1,

5 I m2

-1, mz

% gae W 10 g ¥ [ 5 fagai A @ =g oft
A famg o weet Y@ § 78 € | 37w e
1 Fa gem et & St 7 fargatt #1 e
TS ST wHd & 7 '
(a) 90
(b) 45
() 40
@ 30

a@(b,'&’ﬂﬂﬂﬂpx2+qx+r=0(ﬁ'sf-p,q,r.
oft garers ) ¥ Rm anafes @ &
Frafofea 3 @ Fw o wdl 2 2 :

(a)
(b)
(c)
(d)

a>0,b>0
a<0, b<0
a>0, b<0
a<0, b>0

aR A=p, 0l R, @ AT EE g (S

®)r

(@) {9, (¢}, (A}, 1A, uhi

() {6, (M), {2, wk, A, pi)

© ¢, A, (A, b, A, (A, pil}
(@ AL A, pl A, 1l



3 20 .
7. If B=|2 4 0}, then what is adjoint of B|
1 L
equal to ?
[0 0 0
(a) 0 0 O
-2 -1 8
0 0 -2
(b) 6 0 =1
0 0 8
[0 0 2
(c) g 6 1
0 0°0
(d) It does not exist
8. What are the roots of the equation
|x*-x-6] =x+2?"
(a) L 25 1! 4
- 0,24
@ 01,4
@ -2,2,4
L1 s
9. IfA= L 0] , then the matrix A'is a/an
(a) Singular matrix
(b) Involutory matrix
(c) Nilpotent matrix
(d) Idempotent matrix -
x " =8 *].
10. If y 1 i'[=6+11i, then what are the
’ 0 21 =i
values of x and y respectively ?
(a) -3,4
() 3,4
(c) 37 = 4
d -3,-4
EDF-S-DGV

11.

12l

13.

14.

(5-A)

roots of the

The common ‘equétinns
23+2z2+2z+1=0and22017+z2018+1=0
are

(a) -1,0.

(b)) 1, o’

© -10°

d oo’

If C(20, n + 2) = C(20, n — 2), then what is n

equal to ?

(a) 8

(b) 10

(c) 12

d 16 ‘

There are 10 points in a plane. No three of
these points are in a straight line. What is the
total number of straight lines which can be

formed by joining the points ?
(a) 90
(b) 45
(c) 40
(d 30

The equation px> + gx + r = 0 (where p, q, r, all
are positive) has distinct real roots a and b.
Which one of the following is correct ?

(a a>0,b>0

(b) a<0, b<O

(¢ a>0,b<0

(d a<0,b>0

If A = {A, {A, p}}, then the power set of A is
(a {6, (o}, ), (A, ph}

() {0, (A, (A, ul, DA, il

© {0, A, (A, pl, K, O, mi}

(G VI (7N M7 ST A P W 7 ST )
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AT 17 AT 02 () WAt & fore Aty w
faram #iforg -

%a"rﬁumﬁ,mﬁweﬂwaia;ma@r—ﬁ(ﬁiﬂ
) — v, 0 3R due 2§ § A
G e § | 60 B YR Qe §, 50 2wt 2w
Geld €, 48 FW Wel §, 12 TS I I
wed §, 15 FW I dww Ww A Qw §,
20 29t 248 N vl A werm F |

16. fomme & omEl i =Eaw den w0 @ gd
%2 '
(a) 123 |
() 111
o(c) 95
@ 63

17. farm & o @ e e R @
Hdt 8 2
(a) . 111
(b) 123

(c) 125
«(d 135

18. AR A HMR 3 F & TwwH g B, @
saHRES e (A7)

(a) Y HATYE & T &
(b) A® ST R

(¢) S8A% =TT

19. A, WIfE 3 H1 0 bR ¥ ©F a1l amegw & fp
WE TR W WM 4 R | 3E% ofEd ¥
AR 1 AH w1 R 2
(a) 64
(b) 36
(0 32
«d) 4

20. ¢ TRl IR 4 R F A, W FEtE
5 =aferdl it Wl ST =Rl @ | a7 fhad v
¥ frat s wwar @ 1% Fndwn w wrfRe
# weff v B 2
(a) 209
() 210 -

() 246
d 242

21 [(2x - 3y 2x + 3p)%? % fawm § v €
AT TR 2 |
(a) 4
s 5
(c) 8
@ 16

22. (1+ax)" % fowm #, veat f7 v s 1, 12x
3R 64x* & | n Fored s 2 2

. (@ 6
b 9
«(c) 10

«(d) AR T R
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Consider the following for the next 02 (fwo)
items that follow :

In a school, all the students play at least one of
three indoor games — chess, carrom and table
tennis. 60 play chess, 50 play table tennis, 48 play

carrom, 12 play chess and carrom, 15 play carrom

and table

16. What

in the school ?

(a)

(b)

(c)

(d)

17. What

students in the school ?

(a)
(b)
(e
(d)

18.

1 (a)
(b)
()

(d)

EDF-S-DGV

If A is an identity matrix of order 3, then its
inverse (A™)

is equal to null matrix
is equal to A
is equal to 3A

does not exist

19.

tennis, 20 play table tennis and chess.

can be the minimum number of students

123
111
95
63

ca.n‘ be the maximum number of
21.

111
123
125
135

(7=A)

(e)

A is a square matrix of order 3 such that its’
determinant is 4. What is the determinant of
its transpose ?

(a) 64
(b) 36
() 32
@ 4

From 6 programmers and 4 typists, an office
wants to recruit 5 people. What is the number

.of ways this can be done so as to recruit at
least one typist ?

(a) 209
(b)
(c)

(d)

210
246

242

What is the number of terms in the expsnsion
of [(2x — 3y)® (2x + 3y)*1* ?

(a) 4
(b)) 5
() 8
(d 16

In the expansion of (1 + ax)", the first three

‘terms are respectively 1, 12x and 64x%. What

is n equal to ?
(@ 6

(b) 9

10

d 12
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DI

23. wead 1, 5 3 25 A T (HEMTE T A BF
HE¥IH al) B Gehd 3
*(a) %A TH APH
(b) UH & i W afifig em § APs &
(¢) 3Rt s 4 APs
@) uffia @ d GPs %

24. MAP%(p+qﬁ3ﬂ'((p—q)§qﬁwm
TR R

‘@) @EpERH
b) (293 W *
© PRHETAF
@ qERFTAS

25. I A, HIfE n > 1H T T AYE B, @
frafafea dd sRm et e

~(a) det(—A)=detA
(b) det(-A)=(-1)"detA
(¢) det(—A)=-detA

(d) det(—A)=ndetA

26. 25coseczx+365ec2xiﬁl?[fﬁﬂ'tlﬁ'ﬂr
??
@y 1
(b 11
. (e 120
@ 121

EDF-S-DGV

{ €8~

T S AT 02 (7)) S % Frg B w
faam #ifsre :

A Wi A 3R B, (3 x 3) WYE & wal
det A=43MNdetB=3% |
27. det (2AB) fohgh s ? 7
(a) 96
(b) 72
(c) 48
(@ 36

28. det (3AB™) forad st 2 2
(a) 12
(b) 18
() 36
() 48
T ST AT 02 () I & fore Rt w
frem #ifer : '
T iy e W OWeR & W OE R
o 1+2i
LS
29, 7z WY T 8 ?
(a) 4
(b) 2
w(e) 1
1
@ 2 |
30. z I Y& HIVIH 9T & ?
(a) O

= (b)

(c)

| pla a3y

(d)

A)




Consider the following for the next 02 (two)
items :

27.

28.

Let A and B be (3 x 3) matrices with det A = 4
and det B = 3.

What is det (2AB) equal to ?

(a) 96
(b) 72
(c) 48
(d) 36

What is det (3AB™) equal to ?

(a) 12
(b) 18
() 36
(d 48

Consider the following for the nexi 02 (two)
items :

30.

23. The numbers 1, 5 and 25 can be three terms
(not necessarily consecutive) of
(a) onlyone AP
(b) more than one but finite numbers of APs
(¢) infinite number of APs
(d) finite number of GPs
24, The sum of (p + q)th and (p — q)th terms of an
- APisequal to
(@ (2p)™" term
® (29" term
(¢) Twice the ptll term
(d Twice the qth term
25. If A is a square matrix of order n > 1, then
which one of the following is correct ?
(@) det(-A)=detA
(b) det(-A)=(-1"detA
() det(-A)=-detA
(d) det(-A)=ndetA
26. What is the least value of
25 cosec” x + 36 sec” x ?
(@ 1
(b) 11
() 120
d 121
EDF-S-DGV

(9-A)

A complex number is given by z = ﬁ?‘;—)i )
What is the modulus of z ?

(@) 4 :

(b) 2

€)1

gy,

. What is the principal argument of z ?

(a 0
T
(b) 5
1
e E
d =n
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EDI

sin 34° cos 236° — sin 56° sin 124°

g cos 28° cos 88° + cos 178° sin 208° kil
22
(a) -2
b -1
€ 2
@ 1

82. tan 54° # Tra yer Afeaw e s war

2?2
@) sin 9° + cos 9°
sin 9° — cos 9°

sin 9° — cos 9°

®) sin 9° + cos 9°

© cos 9° + sin 9°
cos 9° —sin 9°
sin 36°

@ cos 36°

it AR Tt 03 (@) weAl & forg Rt w
feram @ifar :

IfEp=XcosO-Ysin6,q=Xsin0+Y cos 0
3]1‘{ p2+4pq+q2=Ax2+BY2%$q€T

(c)

(d)

ola &la w|a No|A

84, AFIHA TR ?

(a) 4
(b) 3
© 2 .
d 1

EDF-S-DGV (10

85. BHRIAM &R ?
(a) -1
(b o
© ' 1
d 2

ST oA aret 02 (F1) WAt & fory fAeforfeaa a
faram #ifor :

TR T 8 fFcos(@-a)=a,cos(®@—P)=b
71 '

36. cos (o —p) forees s 2 2
(@) ab+ ,!1-a2 ,!1—b2
(b) ab- ‘/1—a2 ,}1_b2

(e) aJl-—b2 —l:i‘ll—a2

@ ayl1-b2 +by1-a’

87. sinZ (0.— B) + 2ab cos (o — p) fFESH TR B ?

(a) ad 4+ b°
(b) o =b*
(c) b2 a2

@ -@*+b?

38. ﬂ'ﬁsinaa-eoaa:p%,'ﬂ"fcosz(M)ﬁ?\qai
TR B ?

(a) p2‘
2
d) p'-1
© piA2-p?)
@ p+1

-A)



31. What is the value of _ 35. What is the value of B ?
sin 34° cos 236° — sin 56° sin 124° s
cos 28° cos 88° + cos 178° sin 208°
(a) -2 (b) 0
b -1 ! [ O |
B _ @ 2
d 1
82. . tan 54° can be expressed as Consider the following for the next 02 ( two_)
. sin9°+cos 9° items :

) = =
i T It is given that cos (6 — &) = a, cos (6 — ) = b.
sin 9° — cos 9°
sin 9° + cos 9°

(b)

36. What is cos (0. — p) equal to ?
cos 9° + gin 9°

© ———
et i0s s (@ ab+1-a% {1-b?

@ sin 36°
cos 36° (b) ab- {1-a? 1/1—b2
. . * - & J _b2 _bJ i 2
Consider the following for the next 03 (three) | () a4l 1-a

items :

d 1-b% +by1-a?
Ifp=Xcos0—-Ysin®,q=Xsin0+7Ycos 6 @ aJ +J a

and p2+4pq+q2=Ax2+BY2,OSBS%. o7, What is. sin® (o = 6)'s Gab oon (o = ) equal
to?
33. What is the value of 6 ?
= (@) a’+b?
- : 2 .2
T (b) a“-b
b)) =
: (¢ b%-a®
= 1 2 2
s d -—(a®+b%)
n "
d - 6 |88. If sin @ + cos & = p, then what is cos® (2a)
34. What is the value of A ? equal to ?
(a) 4 (@ p°
b 3 ® p?-1
© 2 © p*2-p?)
c
@ 1 (d) p2 +1

EDF-S-DGV ' =N



39. Sin_li-isec—lé—ﬁa’ﬂmw%'? 42, ﬂﬁwsA:E%,?hsin(éJsin[%Jﬁlm
5 4 2 4 2 2
7 e
4 i 8
T ; 8
b)) = 5
2 2
(b) 16
) = © %
@ o0 :
@ =
A 8p | gle¥ e g
o0 VT s T =tan T3 (48, tan 750+ cot75° FAR HIE 2
2, @ x fros st 2 2 (@) 2
_ ® 4
@ 24 © 243
l1+pgq
d 443
®» 24 ' : |
1+pq : 44. cos 46° cos 47° cos 48° cos 49° cos 50° ...
. cos 135°
© lfqpq FAA TR ?
(a) -1
@ 21 e
=M © 1
(@ 19 i
1 1
4. wﬁme_zaﬂtmm_gé,?ﬁ(eﬂp)wﬁ Wﬁsin28.=eo330,3ﬁ-0<9<%%,‘cﬁsin3
R _ forad T R 2
@ 0 ' J5+1 -
. (a) 2
b =
s (b) -1
T4
n
= (e) Z (c)' J§+1
16
@ .= .
2 @ ¥5-1
16

EDF-S-DGV . (12-A)



39. What is the value of sin_l'—;- + sec_li— - g ? |42.
b
(a) Z
% %
(b) 2
ey =
d 0
2
. -1_2p 11-q¢° . -1 2x |43,
40. If sin R - e =
+p 1+q 1-x
then what is x equal to ?
(a) p+q
1+pgq
A . U 44.
1+pq
@ 2
1+pq
e 2
1-pq
: 45.
41. Iftan 6 = % dtan @ = %,thenwhatis the
value of (6 + @) ? ;
(a O
5 £
(b) 5
T
(c) 3
.
(d) )
EDF-S-DGV (13-A)"

3

If cosA= T then what is the value of
: [A] : [3A] :
sin| — | sin| — | ?
2 2
5
(a) "8—
5
B =
(b) 16
5
(c) 2—4
7
3y e 5
(d) 32

What is the value of tan 75° + cot 75° ?

(a) 2
M) 4
© 2V3
(@ 443
What is the wvalue of
cos 46° cos 47° cos 48° cos 49° cos 50° ...
; cos 135° ?
(a) -1
(b) 0
@ 1
(d) Greater than 1

If sin 20 =cos 38, where 0<9<%, then

whatis sin© equal to?

J§+1

(a) 7

5-1
4

'\‘

(b)

5+1
16

J5 -1

k]

(c)

[+4]

(d)

f—y
(=]




(s

(

T ., T '

IF.

46. qﬁﬂ‘ﬁﬂ?{ﬂ'x2+px+q=0ailﬁ-tan19°3ﬂ'{

47.

49,

EDF-S-DGV

tan 26° &, A Frafafes & & S w wd
27
(a)
(b)

(c)
(d)

n 9§ aelt Tk AP e v w1 dmed
n(n + 1) &, =1 <o 9 #41 8 2

(a 6 .

(b) 8

() 12

@ 20

- B - T TS

-p=1
-q=1
+q=2
+q=3

(1 + tan o tan B)? + (tan o — tan B)% -

seczaseczﬂ

e st R 2
(a 0

(b) 1
) 2
d 4

IfQ p = cosec 6 cot 0 3 q = (cosec O + cot 6)"
2, @t Frrfafga & @ S v ad 2 2
(a).'_I:)q=1

(b) p=q

() p+q=1

d p+q=0

I T B ABCH 07 1:2: 3% Iigura #
&, @ Ta e fohg s # ¥ 2

(a) 1:2:3

(b) 3.:2:_1

(. 1:43:2

d 1:4J3:J2

51.

52.

(14-A)

Frfafigs wui w fmm Hif

1. % @ e afteo, aifa o #,
xcos@+ysinO=p @, wRg (o, p)
d @R W dw f d=E

|occos B+ Bsin 6 +p| 21

2. g (@, p@ E+%=‘1quaﬁmz

aa + bp —ab

1fa2+b2
ITg HE A P wd ¥ 2
(a) ¥ 1

SEEIRCiH 21

b) Faw 2
(c) w’kz‘rﬁﬂ‘i

@ AWML, TR 2

TH F x° + y° = a> & Teh a1 S T THH
T g EiE T R | g e, W x4y =a W
o ® | ga = wliew w2

(a) 12+y2-ax—ay+a2=0
(b) x2+y2—ax-ay=0
s (c) x2+y2+ax+ay=0

(d x2+y2+ax-+ay—2a2_=0



- 46.

417.

EDF-S-DGV

(c)

If the roots of the equation x2 +px +q=0 are

" tan 19° and tan 26°, then which one of the

following is correct ? .
(@ q-p=1
(b) p-q=1
() p+q=2

(d p+q=3

What is the fourth term of an AP ofvn terms
whose sum is n(n = 1)7?

(a)

(b) 8

) 12

(d 20

What is |

(1 + tan « tan B)? + (tan o — tan B)® —
. sec? o sec’ B

equal to ?

@ 0

(b) 1

© 2

d 4

If p = cosec 6 — cot 8 and q = (cosec 8 + cot B)_l,
then which one of the following is correct ?

(a) pg=1
® p=q
(¢) "p+q =1
d - p+q=0

If the angles of a triangle ABC are in the ratio
1: 2 : 3, then the corresponding sides are in
the ratio :

@) 1:2:3

b 38:2:1

2
V2

& &

5 5
() <01

51.

52.

(15-A)

Consider the following statements :

i For an equation of a line,"
x cos 0 + y sin 0 = p, in normal form, the
length of the perpendicular from the
point (o, B) to the line is

|oecos®+Psin®+p]|.

2.  The length of the perpendicular from

the point (a, B) to the line E:-+-%=1 is
a

aa + bp —ab

‘}az +b?

Which of the above statements is/are correct ?

(a) 1lomnly

(b) 2only

(e) Bot.‘h 1and 2

(d) Neither 1 nor 2

A circle is drawn on the chord of a circle
< + yz = a” as diameter. The chord lies on the
line x + y = a. What is the equation of the
circle ?

(a) x2+y2—ax-ay+a2=0

(b) x2+y2—ax—-ay=0
x2+y2+ax+ay=0

(c)

(d) x2+y2+ax+ay—2a2=0‘



53. UH g W ffht fag f fir gfel w1(57. AR Y@ sy +ax=1,y=x+53M by +bx=3

INTHe T B I ¥7 e @ geft §, @ b %1 HE TR 2
(@ oY G i T=E & W 1
(b) & 3@ H = F b 3
(o e £ © 6
@ i 3R ey i i T & @ 1
et ;

58, AW W@ FI O M 2 M y=x W &
54, W 2x% _ 3,26 =0 frefa w2 B e

2 3 (3,2) ¥ AR [Tt R 2
(a) T ;
(@) x-y=5
(b) Th WaEeH
(o) T ddaa - gl
@ T AfaeEas () x+y=1

d =x-y=1

55. ﬁmyz=4ax3ﬂ'{ x2=4ay9ﬁﬁﬁ§

(a) YaTy=x W @A figail w 59. W@ @M x+y-4=0,3x+y-4=03NK

x + 3y — 4 = 0 @& Fayw st €; 7w By

(b) Fad gei-fag W )
© TR w i dwysx=0m| @ qufgang 2
L (b) T &

(d) Had (4a, 4a) W _ b .
56. farg (1,9 3 5, 1), TH o B A | @ ER

R M y=2x+ cRB@E | e '
- . |60, FAx®+y® + 4x— Ty + 12 = 0 G y-31& T HwI

A FE?
' T U 3a: WS e s R 2
(a) 2 ) .
=(a) 1
b) -2
= | ® 3
(0 4 ' G 4
d -4 : @ 7

EDF-S-DGV (16-A)



53. The sum of the focal distances of a point on an
ellipse is constant and equal to the
(a) length of minor axis .
(b) length of major axis
(¢)  length of latus rectum
d) sum of the lengths of semi-major and
semi-minor axes
54. The equation 2% — 3y2 -6= 0 represents
(a) acircle
(b) aparabola
(¢) anellipse
(d) a hyperbola
55. The two parabolas y2 = 4ax and x° = 4ay
intersect
(a) at two points on the line y = x
(b) only at the origin _ ;
(¢) at three points one of which lies on
y+x=0 '
(d) only at (4a, 4a)
56. The points (1, 3) and (5, 1) are two opposite
vertices of a rectangle. The other two vertices
_'lig_ ‘on the line y = 2x + ¢. What is the Yaluef_ pf
c? i
@) 2
(b) -2
) 4
@ -4
EDF-S-DGV

57.

59.

(17-A)

If the lines 3y + 4x = 1, y = x + 5 and
5y + bx = 3 are concurrent, then what is the
value of b ?

e |
(b) 3
(c) 6
1
(d) 3

What is the equation of the straight line which
is perpendicular to y = x and passes through
3,2)?

(a8 x-y=5
®b) x+y=5
©0 z+y=1
(d) x-y=1l

The straight linesx +y-4=0,3x+y-4=0
and x + 3y —4 =0 form a triangle, which is

(a) isosceles

(b) right-angled
(c) = equilateral
(d) scalene

i

The-circlexz+y2+4x-7y+l2=0,cutsan

intercept on y-axis equal to
(a) 1
(b 3
© 4
@ 7



61.

62.

A(2, -3, 3), B(5, -3, — 4) 3R C(2, -3, —2) s}
T UF IS 1 Fwe S fag a2

(8) (-3,8,-1)

(b) (3,-3,-1)

(c) (3,1,-8)

@ (-8,-1,-3)

Tﬁﬁx2+y2+z2—6x+8y-—102+1=03ﬁ
(EE Il B

(@ 5
b)) 2
(€@ 7
d 3
63. THAWI 2x +y+22=9 HRdx—6y—dz =13
wfrede 3k fig (3, 2, 1) ¥ TR I THEw
FEHHOI TR ?
.(a) 10x-2y+2z=28
(b) 10x+ 2y +2z=28
() 10x+72y-2z=28
(d 10x-2y-2z=24
64. THFIG THAA! 4x - 2y + 4z + 9 = 0 3K
8x—4y+82+21=0%ﬁ?_3ﬁ@.'ﬂ'l%?
: ,
(a) Z
1
(b) 2
() g
7
(d) i
EDF-S-DGV

65. -3\ & fem T = & 2

(a) <1.1.1>

(b) <1,0,0>

(¢) 53
(d -53

. AR fagel A o B ¥ Uy wRw s

3i-25 + kool +4}_3k & @ AB

< TS ;TR 2

(@ 14
®) 29
(¢) ~ J43
d 53

68. wﬁqa;maﬁwﬁgamcﬁ,awmcw%,a}

AB..AC + B0 R + & . & Bun
T R ? '




61.

EDF-S-DGV

The centroid of the triangle with vertices
A(2, -3, 3), B(5, -3, —4) and C(2, -3, -2) is the
point

(a (3,3,-1)

M) (3,-3,-1)

© @G,1,-3)

d (-3,-1,-3)

What is the radius of the sphere
x2+y2+zz—6x+8y—102+ 1=07?

(a) b

(b) 2

(e 7

d 3

The equation of the plane passing through
the intersection of the planes 2x + y + 2z = 9,
4x — 5y — 4z = 1 and the point (3, 2, 1) is

(a)
(b) 10x+2y+22=28

10x — 2y + 2z =28

() 10x+2y-2z=28
(d 10x-2y-2z=24

The distance between the pamllel. planes
4x -2y +4z+9=0and 8x -4y + 82 +21 =0
is

(a)

=

(b)

(c)

s Now e

(d)

67.

(19-A)

- (b)

What are the direction cosines of z-ax.:'ls ?
(a)
(b)

s I s 1
<1,0,0>
) <0,1,0>

d <0,0,1>

= A A _A S JT T R
Ifa =i-2j+5kand b =2i + j -3k
then whatis(b — a ).(3a + b )equal to?

(a) 106
- 106

() 53

(d -53

If the position vectors of points A and B are
3? 423 + 12 and 2? +4'} -—3]; respectively,
then what is the length of AB ?

J14

b V29

© 43

J53

(a)

(d)

If in a right-angled triangle ABC, hypotenuse

AC = p, then what is
e S T T S
AB.AC +BC.BA + CA . CB equal to?

2

(a) p
(b) 2p>
2
Pp°
(c) 2
i



69.

71.

EDF-S-DGV

DF-¢

- -
oftwt @ =2i-6j-3k ok B =4i+3j-£k

% o9 % I I G5 (sine) &

(a)

@|...
(=]

(b)

;3“01
o

(c)

]
(=]

1
(d) 26

A ® 98 WA w g e fow aftw
37 +45 - k sk sRw 23 +1j + 10k
wead & ?

(a) 1

B 2

(0 3

d 4

x % AN sec’ (tan™! x) T YU 1 B ?.
(a) 2x

b x2+1
x+1

(c)

@ x

72.

73.

74.

75.

+oo)

(20-A)

e f(x) = logyo (1 + x) &, A
4f(4) + 50(1) — log,o 2 Torereh sre 2 2

@ O

) 1

© '2

d 4

fx) = In ({Jx? +1 - x) gr afonfa o e f,
2
(a) UH G BeH
e fawm wer

o i faww wom et

T @ 99 3 T ) ey e

(b)
(c)

(d)

f(x) = log, 10 G YRWINA B £ SHA 8
x> 10

x =10 BISH, x>0

x=10

x=l‘ﬁ§ﬁ$ﬂﬂ, x>0

(a)
(b)
(c)

(d)

3
jin 1298 & e wrR D

x—0 32
(@ 0
12
() 24

(d 36



69. The sine of the angle between vectors 72. If f(x) =logyo (1 +X), then what is
P R ST T R R
is (a 0
(a) 1 (b)) 1

s e
SRR
o d 4
J26
5
() 26 ,
. 73. A function f defined by fix) = In ({/x2 +1 — %)
(d) 26 is
(a) an even function
(b) an odd function

70. W?at is :;he vilue of A f;r\n' whif:\h the v::ctors : ©) Botheven andodd Smction

3i +4j) — k and <21 + Aj + 10k are

} (d) Neither even nor odd function

perpendicular ?

(a) 1

®) 2 74. The domain of the function f defined by
fix) = log, 10 is

¢ 3 (a) x>10

d 4 (b) x>0 excluding x = 10
() x210
(d) =x>0excludingx=1

71. What is the derivative of sec’ (tan™’ x) with

respect to x ? ;

2% : -y 3
e 75. lim 1—"‘3:—4’. is equal to
. : x—0 X
2
1

i e @ O

(©  =x+1 ; (b) 12

@ o2 ) 24
(d 36

EDF-S-DGV . (21-A)



—

0.

76. r>_0%%q,ﬁanra:-@qa%wﬂmm
HIEA A AT fr) R | 0 A1) 4 1) Pemd
S B 2
a) 1
(b) 2
© 3
d 4

77. MR 0 = 3}, T ) ) o) Reed T
2 TR
(a) flx+y+2z)

) fx+y+z+1)
() fix+y+z+2
(d fix+y+z+3)

78. WHF x4+ 9|x| +20=0 F R TAlE
el <l de @ |
(a) IF
«(b) TH
© @
(@ dF=

79. AR f(x) = sin (cos x) B, a ) Fra s # 2

®(a)

(b) _sin (- sin x)

cos (cos x)

. e} (sinx) cos (cos x)
(@ sin x) cos (cos x)

80. e fn)= - G5 W S &

A

81. 3fa%er gy %’ =cos(y—-x)+1 HTga &

(@) e*[sec(y—x)—tan y-x)l=c

(b) e*[sec (y —x) + tan (y-x)] =c

(€©) e sec(y-x) tan(y—x)=c
* @ e*=csec(y-x) tan (y — x)

Isinx—cos x| dx fohgas s 2 2

2
Q.———-.N:]al

(@ o

b 22 -1)
© 2.2

@ 22 +1)

83. IR y=acos2x + b sin 2x g @
2
(a) g;giﬂ-:o
d?y
(b) Td:2—+2y=0
2
(© %%-4y=o
d2y

@ .

+4y=0

84, a@ﬁ@ﬁﬂim'ﬁ@mﬁﬁaﬂmﬁl
P STHATHR SAMUR 3 syefgensn R arem)
ﬁm%-iuﬁ:ﬁm%ﬂwaﬁ:ﬁm
T S, dt a1 e S anigwrR

i % = & srgam == @ o
@ (0,) @ 7:(n+2)
(b) [0, ) b)) @+2):n
© [23] (&) T3
@ (23 () ITH & & B 7
EDF-S-DGV (22-A) : i



The solution of the differential equation

dy =cos(y—x)+1is
dx

(a) e*[sec(y—x)—tan(y—-x)]=c¢c
(b) e*[sec(y—x)+tan(y—x)=c
(¢) e*sec(y—x) tan(y—x)=c¢

(d) e*=csec(y—x) tan(y—x)

i |sin x —cos x| dx is equal to
0
(a)

0
b 2(J2 -1
e 242

@ 2(2+1)

If y =acos 2x + b sin 2%, then

(@) %x%+y=0
(b) %i—g-+2y=0
(©) %—43(:0
o) §%+4y=0

A given quantity of metal is to be cast into a
half cylinder (i.e. with a rectangular base and
semicircular ends). If the total surface area is
to be minimum, then the ratio of the height of
the half cylinder to the diameter of the
semicircular ends is

76. For r > 0, flr) is the rat:io/ of perimeter to area |81.
of a circle of radius r. Then f(1) + f(2) is equal
to
s 1
®d 2
(¢) 3
da 4
77. If f(x) = 31", then f(x) fly) flz) is equal to
(a) fix+y+2) 82.
(b) fx+y+z+1)
(c) fix+y+z+2)
(d fix+y+z+3)
78. The number of real roots for the equation
x? +9|x| +20=0is
(a) Zero 83.
(b) One
(¢) Two
(d) Three
79. If fix) = sin (cos x), then f’(x) is equal to
(a) cos (cosx)
(b) sin (—sin x)
(¢) (sin x) cos (cos x)
(d) (-sinx) co8 (cos x) 84,
'80. The domain of the function
f_(x) = ‘/(2 -x)(x-3) is
(a) (0,<)
(b) [0, )
(e 23]
@ (2,3
EDF-S-DGV (23-A)

(a) mn:(m+2)

b @+2):m

) LIl

(d) None of the above



s 88 ﬁﬁm,z)ﬁyz-s;cﬁwqﬁﬁm%m
85. J.esmxcosxdx fras ST R ? 27
§ (a) J2
(a) e+1 b) 2‘[2'
®) e-1 «© 2
(¢) e+2 (d) 3.J2
«ld) e
g9, yw W qE-fg W wd FW A Fa-FEE
1 STaHe THET &
g8, R fR=2"2, xs-28 W@ e ; 4 |
x+2 ‘(@ x +y2—2xya-!=0 ) I
T X
SRR ? ' — A
2,2 dy _ il
4x+2) () x"+Yy +I2xyd)1 =0
(a) N e
x—-2 1
(c) xz-y2+2iy-l=o
x+2 dx
(b) PPRE T )
«d) xz-—y‘z—2xy-:—i =0 .
X+2 \'\m-_
(c)
1—2 . H
92(1 + x) soaaaﬁaatﬁ'«wr d—zz + 2.[§-)2+9y=x%?
(d) = : dax? - dx
det & Freferfaa o ferem HIRT -
1. sraeret a6 uma (faft) 12
817. I In(?) dx e TSR ? | d
2. I,aqamwﬂwﬁaﬂﬁ(mét)zﬁl
(a) 2xln(x) -2x+c I S § @ PR T RA?
_(b)'gn @ ¥l
o(b) HaS 2
» (0 2xlin(x)+c
o (c) 13ﬂ12é’l=ﬁ
2 In(
@ == -2x+c.
s @ AL, AR 2

EDF-S-DGV

(24-A)




x 88.
85. j "X eos x dx is equal to
0
(@ e+1
(b) e-1
(¢) e+2
89.
d) e
86. If fx)= "2, x # —2, then what is £ (x|
x+2 .
equal to ?
4(x +2)
= x-2
xSy 2
ot 4x-2)
x+2
i x-2
2(1+x)
_(d) e
87. Whatis I In(x?) dx equal to ?
(a) 2xin(x)-2x+c
® Zic
() 2xilnx)+c
(d) S 2x+¢
x
EDF-S-DGV (25-A)

TR

The minimum distance frém the point (4, 2) to
y2 = 8x is equal to '

(@ 2
(b) 242
() 2
@ 32

The differential equation of the system of
circles touching the y-axis at the origin is

(a) 1!12+y2—-2xy£i—z =0
dx

90. Consider the following in respect of the

differential equation :

5
+ 2(ﬂ] + 9y=x
dx

d2y

dx?

1.  The degree of the differential equation
is 1.

2. The order of the differential equation
" is 2.

Which of the above statements is/are correct ?

(a) lonly'

(b) 2only

(c) Both1and2
(d) Neither 1 nor 2



91. afawa afwm Y
dx

22

(a)

+ X -0 F YR FA T
y

x2+y2=c
b) x>

(c)
(d)

—y2=l'.‘.'

x2+y2=cxy

X+y=¢C

s sinx x=#0
92. k 1 98 AH ¥ & | f(x)={ ;
. k x=0
x =0 9% Had §41a1 8 ?
(a) 2
(b 1
© >t
@ o

93. a’x + by 1 AW AH, &l xy =’ %, TR ?
«(a) " abec
(b) 2abe
(c) 3abe
(d) 4abc

94, I &in® gy formd st R 2

a!

o In(a) e
x
®) z:(a)‘”
e Ine(:e] >
(d) -%:) +c
EDF-S-DGV

95. T y = c sin x 3N x-A¥ & o9 5t vk urw
(W) T S TR ?
(a) ¢
«(b) 2c
{c) 3e
(d) 4c

96. AR sin 6+ cos 6 =v2cos O g, @
(cos & — sin 0) forEs FTR 2 2

(@) - +J2cos®
) - V2sin0
(© 2sin@
d 2 sin. (]

97. U ge e AW 44 cm B, I9H T Har

TS 22 om B |m'ﬁagawﬁaﬁr§w
??

f). - ook

21
242

121
21
44
7 .
ot Ty 1
: . = — 8 oo fpm
98. 3 sin 6 23#(th J:;%

wqute ¥ war d 2
* (a)
(b)
ale)
(d)

(e)

- (@)

o
fodta
-
=gd

(26-A)
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91. What is the general solution of the differential

equation g+E=0 ?
dx

y
(a) X2 + y2 =¢
b =-y=c
© x+y’=caxy
(d x+y=c
The value of k which makes
sinx x=#0
f(x) ={ continuous at x = 0, is
_ k x=0
(a 2
b)) 1
e -1
d o
What is the minimum value of a’x + hzj '
where xy = 2 ?
(a) abe
(b) 2abc
(¢) 3abe
(d) 4abc

What is I e*"® gx equal to ?

{a) n@ +c
X
) In(a) s
X
e
() In(ae)
ae®
e

95,

(27-A)

What is the area of one of the loops between
the curve y = ¢ sin x and x-axis ?

taj

(b) 2c
() . 3e
(d) 4c

If sinB+oosB=J§cnsB, then what is
(cos 6 — sin 0) equal to ?

(8) - +2cos0
() - 2sin®
(¢ +2sin6.
(d) 2sin®

In a circle of diameter 44 cm, the length of a

chord is 22 cm. What is the length of minor arc
of the chord ?

(a) 42—5‘;4 cm
®) _2%2 cm
(c) % cm
@

X , then in which

J3

IfsinB:—%andtanG:

“quadrant does 6 lie ?

(a) First
(b) Second
(¢) Third
(d) Fourth



%'

3% 1,2, 3, 4 3 5 F T Fh dH IR A
et @9 gEand sl S Al €, SEfh i

R g o 7 R 7

100.

101.

(p)

102.

(a) 36
(b) 30
() 24
(d) 12

b S 6w HeR h T g AF, T
Har ¥ S 2o § 2, 39 B0 x R I T
ﬁ%Bﬁ,GﬁﬁiA%Eﬁﬁ{éﬁ%,mmy
2 | 7 AB =z 2, @ Pfafea & @ $H-41 T
TR 2

(a) h? (cutzy—wtzx)¥z2
b 2z (.‘.301;2y—coi;z:i;):h2
(c) hz(tahzy-tanzx)=zz
(d) 2’ (tanz.y—tanzx)=hé
a $ v T ¥ wReaE g W e

S £ | Heed W F T @ @R hI FRIHAT
FR? :

1
(a}-—s—l'

4
W =

1

52

b
aly e
aﬁAaﬂtBamﬁwm‘éﬁi

P(A) = 05, P(B) = 0-6 3 P(A N B) = 0-4 8, &

 P(AUB) o s R 2

EDF-S-DGV

(a) 09
(b) 07
(¢) 05
d 03

(28-A)

103.@%&:1%@%4\,33&03%&%3@%

Rrehl 3w F B HA I TIAHATe, SHE: %,

3o 11 aR Al A I A
& HW & 9 39 9@ ) nilkmar w720 8 T oy
&1 g fie S ? '
29

32

27

32

25

32

23

32

(a)

(b)

(c)

(d)

104. oz 9@l % T I H beb1 (GgHEN) Sl

2 | $% 9 F 91g I« 9 SE@ & O 5W 9@ H
ifan @ & fF g TR F Haw w1 A 6

TR % e & AH 4§ A @ 2
@ 7
b <
(c) %
@ =

105.Q$ﬁw%ﬁaﬁmmaﬂtmﬁm

uF ofEd TR W G omn | d@ RE %
mm2m4m6m-q‘aﬁiﬁtshﬁww

2?
(a)

(b)
=i{e)

(@

D= = W= M=




99. How many three-digit. even numbers can be
formed using the digits 1, 2, 3, 4 and 5 when
repetition of digits is not allowed ?

(a) 36
(b) 30
(c) 24
d 12

100. The angle of elevation of a tower of height h
from a point A due South of it is x and from a
point B due East of A is y. If AB = z, then
which one of the following is correct ?

(a) h? (cot? y - cot? x) = z°
() 22 (cot? y — cot® x) = h?
(¢ hZ(tan®y-tan®x) = z°
@ 2 (tan’ y— tan® x) = h?

101. From a deck of cards, cards are taken out with

: replacement. What is the probability that the
fourteenth card taken out is an ace ?

1
(a) E
4
(b) 51
1
(c) E
1
7 =
(d) 13

102. If A and B are two events such that
P(A) = 0-5, P(B) = 0-6 and P(A N B) = 04, then
whatis PCA UB ) equal to ?

(a) 09
(b) 07
(¢ 05
d 03
EDF-S-DGV

103.

104.

105.

(20-A)

_ (e)

A problem is given to three students A, B and
C whose probabilities of solving the problem

13 d i‘ respectively. What is the

are E ) 4
probability that the problem will be solved if
they all solve the problem independently ?

29

(a) 35

27

(b)ﬁ

25
32
23

(d) 32

A pair of fair dice is rolled. What is the
probability that the second dice lands on a
higher value than does the first ?

(a)
(b)

(c)

- D= b=
o |o l I

(d)

®|on

A fair coin is tossed and an unbiased dice is
rolled together. What is the probability of
getting a 2 or 4 or 6 along with head ?

@ %
® 3
©
) %



106. a2 A, B, O T &, 7 9 & FAAFH (109, T A (100) e F wea 50 @ R I
TS % U |1y e o wifdehar 991 @ ? e e 10 2 1 AR v YHu § | 5 uA
@ PANB)+PBNC)+PCNA foem wman @ afv fe 3@ 4 & Fnfm v fen

® PANB) +PBNC+PCNA - ST 2, A T W S T aee faeen e

P(AANBNC) =1 B8Rl ?

@ PANB) +PBNOC +PCNA -
2P(ANBNC) @ 45,5

@ PANB) +PBNC+PCNA) -
3SANBNC) ®) 11-25,1-25

107. AR A W x oM YA &, AT AT 4195 95

T R ?

@ 1 @ 125,25

® -1 |

© 0. 110. af2 2 frseg @l -+ FHr AT R, 9 W q@
@ 39 | g T &£ aufieey s #=01 @ f wed 9@ W 6

m,aaﬁ:usﬁmgm%ﬁﬁmﬁqtmaiﬁ

-ms.amﬁamrliAambm%ﬁs 1 ATHA 8 @ ?
P(AUB)=.§.aﬂtp(AnB)=%%l

: : LS

IR P(B) < P(A) B, T P(B) e s & 2 aroos
i |
(@)=~

4 ; &

®
1

(b) 3 . _

1

i l (c) g
2

i | 1

@ z @ <

EDF-S-DGV ' (30-A).



106. If A, B, C are three events, then what is the | 189,

probability that at least two of these events
occur together ?

(8 PANB)+PBNC)+PCNA)

® PANB +PBNC +PCN A -
PANBNC)

@@ PANB +PBNC +PCNA) -
- 2PLANBNC)

d PANB)+PBNC +PCN A -
3BP(ANBNC)

107. If two variables X and Y are independent, then
what is the correlation coefficient between
-them ?

@ 1
(b) -1

(C) 0 y 110,

(&) " None of the above

108. Two independent events A and B are such
thatP(AuB)=§andP(AnB)=—;—.If

'P(B) < P(A), then what is P(B) equal to ?

@) -:—
® 3
(©) -;
@ %

EDF-S-DGV (31-A)

‘'The mean of 100 observations is 50 and the

standard deviation is 10. If 5 is subtracted
from each observation and then it is divided
by 4, then what will be the new mean and the
new standard deviation respectively ?

(a) 45,5

(b) - 11-25,1-25

() 11-25,25

(d) 125,25 =

If two fair dice are rolled then what is the f
conditional probability that the first dice lands
on 6 given that the sum of numbers on the
diceis 8 ?

1

(a) s
do} : 1
() -;-
@ 5
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111. < THY I H ISTEN IR, TIF TR F

112.

EDF-S-DGV

3l %o @1 U1 &, & Hie O Y, T 9 O
AN TH FAT e WA Y= e e § | 39 W
& wiisrar w1 @ fo6 S W s S T e 2

(a) —

(b)

0| b

© —

(d)

o =

qmmftngtﬁi,ﬁﬁaagﬁmirr
#1 & | 3l 2 S Iges w1 A T ot §
@tmmﬁyﬁm%%ﬁaﬁﬂﬂg

e A WA E, A nw A RTR?
(a) 3
b 4

¢ 5

d 6

(32-A)

113. T % 52 T¥i 1 T T A A v B A

G H G T 8 | 39 9@ o WiRwar @@ 2
% @ 3l o o & e F (v ) & 2

(a) —

b)) —

() —

@ =

114. TF T I 38 qR Hebr S & 3R 3@l 5 @

6 W1 AT Thedl WA 1T & | Ghaaian $i

A TS B AT 3R uEE fees wuw:

(a) %19—6
" it
© %%
@ %-1-95



111. Two symmetric dice flipped \mth each 'dice

112.

EDF-S-DGV

having two sides painted red, two painted
black, one painted -yellow and the other
painted white. What is the probability that
both land on the same colour ?

3
(a). 18
2
(b) 9
5
(c) ﬁ
1
(d) 3
There are n socks in a drawer, of which

3 socks are red. If 2 of the socks are chosen
randomly and the probability that both

seiectedmcksmmdis%,thénwhatisthe'

/

value of n ?
(@ 3
(b) 4
() 5
@ 6

113. Two cards are chosen at random from a deck

114,

(33—A)

of 52 playing cards. What is the probability
that both of them have the same value ?

(a)
(b)
(c)

(d)

In eight throws of a die, 5 or 6 is considered a
success. The mean and standard deviation of
total number of successes is respectively given

by

(@ % _%6'
o 34
© %,%
@ %_,1976



115. 3 9 A S B 3@ v & %5 A ot B

R I9as § | A PA) = 0-5 3R P(B) = 0-6
8, @ P(A|B) I 97 &7 & ?

(a)
(b)
(c)

(d)

Wi g o= o=

116. Fr=fafaa oAt v faawr 6t

117.

EDF-S-DGV

1. WH % UF Gg=d %1 376 GUR oS
famedl w1 dsffr dmea @ = A
2 '

2. U Gafia W2 % i
FHIR AT > WIfedaH > ageh (W) |

IE FE A A WA wh R 2
(a) %ad 1

(b) *ad 2

(¢ 13K 23

@ @1, T8 2

A i X 3R Y & st agdey s 06
¥ | IFeF W 2z 3 W s wER vRonie #
%z=X+53fRW=§%|zaﬂtw%ﬁa
TR V1 R ? |
(a) 01

b 02

© 036

@ 06

118. 3% 1 3k 20 % 9 & wh o= et =1 3 F

o & fan Srar 2, @ oRomdt Soh w5 g

CFTR?

(a) 9975
(b) 199-75
(c) 29925

(d) 399-25

119. 8 @1d H Wiikwar 7= ¢ % el ow =1 o
- i fag sweht oRfy 6 st 38% 35 %

120.

(34-A)

ity wvfig 8 2
fa) %

(b)

B | =

3
- (e) e

@ sﬁﬁﬁiﬂaqﬁﬁmmm

AR A 3R BQ e &, @@ W @t wewm A
9 B ¥ uféa €R < wilkmar s @ 2

(a) P(A)+P(B)
(b) PAUB)
(©0 PAANB)

(d) P(A)P(B)



115.

116.

117.

(a) 01
(b) 02
(c) 036
(d 06
EDF-S-DGV (35-A)

(c)

Y be 046. Random variables Z and W are

A and B are two events such that A and B
are mutually exclusive. If P(A) = 05 and
P(B) = 06, then what is the value of P(A|B) ?

(a)

(b)

NN D= ot

(d)

Co | =

Consider the following statements :

1.  The algebraic sum of deviations of a set
of values from their arithmetic mean is
always zero.

2. Arithmetic mean > Median > Mode for a
symmetric distribution.

m of the above statements is/are correct ?
(a) 1only

() 2 only

(¢0 Both1land2

(d) ﬁeither 1 nor 2

Let the correlation coefficient between X and

defined as Z = X + 5 and W = %.'Whatisthe
correlation coefficient between Z and W ?

119.

118. If all the natural numbers between 1 and 20

are multiplied by 3, then what is the variance
of the resulting series ?

(@) 99-75

(b) 199-75
(c) 29925
@ 39925

What is the probability that an interior point
in a circle is closer to the centre than to the
circumference ? ;

!

(a) I
W
’ 3
(c) Z

(d) It cannot be determined

If A and B are two events, then what is the
probability of occurrence of either event A or
event B ?

(a) P(A)+P(B)

‘(b) P(AAUB)
(0 P(ANB)
(d  P(A) P(B)
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